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Name: Score: 

Morning Math 

_________________________________________________________ Today is: 

Write 5/8 as a percent. 

Write 2/3 as a percent. 

Write the missing number, if the ratio 
remains the same. 

4 12 20 

3   

   478 
x  338 

 $49.59 
x          8 63)4,914 

Find the median. 

7, 42, 25, 58, 41, 93 

 A computer costs 
$1,739.55. 

 Tax is 8%. 
 What is the total cost 

of the computer? 

    45.8 

X    7.3 

Find the mean. 

2, 88, 16, 4, 2, 97, 9 

16 and 30 

List all factors. Circle the greatest 
common factor. 

27 and 36 
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Name: Score: 

Math Homework 

_________________________________________________________ Today is: 

Write 1/3 as a percent. 

Write 1/8 as a percent. 

Write the missing number, if the ratio 
remains the same. 

20 40 8 

15   

   552 
x  451 

 $37.92 
x          6 56)5,432 

Find the median. 

98, 4, 73, 5, 27, 1, 27 

 A swing set costs 
$379.88. 

 Tax is 9%. 
 What is the total cost 

of the swing set? 

    48.2 

X    6.9 

Find the mean. 

11, 7, 31, 2, 1, 10, 8 

18 and 42 

List all factors. Circle the greatest 
common factor. 

32 and 56 
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Name: Score: 

Morning Math 

_________________________________________________________ Today is: 

Please divide. 

1 
5 

2 
5 

= ÷ 

Round 3.5123 to the thousandth. Round 5.618 to the nearest hundredth. 

4 

234 
6 

= 

216 
8 

= 

2 
7 

2 
4 

x = 

4 
8 

2 
8 

= ÷ 

2 
3 

3 
4 

= ÷ 

3 
= 2 

4 
= 4 

5 
2 
3 

x = 

    42.7 

X    3.8 

 675 
X   72 

    $341.19 
   x         22 

 509 
X 336 
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Name: Score: 

Math Homework 

_________________________________________________________ Today is: 

Please divide. 

1 
3 

2 
3 

= ÷ 

6 

4 
9 

3 
4 

x = 

4 
8 

7 
8 

= ÷ 

2 
9 

1 
2 

= ÷ 

3 
= 3 

4 
= 3 

7 
1 
5 

x = 

    52.6 

X    1.9 

 373 
X   94 

    $266.24 
   x         30 

 692 
X 255 

Round 4.8246 to the thousandth. Round 3.715 to the nearest hundredth. 

648 
9 

= 

441 
7 

= 
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Name: Score: 

Morning Math 

_________________________________________________________ Today is: 

4 
2 
7 

2 
4 

x = 3 
= 2 

4 
= 

  

33)2,772 
  

46)6,532 
  

55)7,095 

Please divide. 

1 
4 

3 
4 

= ÷ 

Find the least common multiple. 

2 
3 

1 
3 

= ÷ 

Which of the following is the value of N for 
the problem shown? 

5 and 8 4 and 10 

N x 68 = 1768 

23 

26 

28 

36 
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Name: Score: 

Math Homework 

_________________________________________________________ Today is: 

5 
5 
6 

3 
4 

x = 3 
= 6 

2 
= 

  

41)6,847 
  

32)8,160 
  

46)5,428 

Please divide. 

4 
5 

1 
5 

= ÷ 

Find the least common multiple. 

1 
6 

1 
2 

= ÷ 

Which of the following is the value of N for 
the problem shown? 

2 and 12 6 and 5 

N x 81 = 3969 

45 

53 

49 

58 
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Name: Score: 

Morning Math 

_________________________________________________________ Today is: 

Write 1/2 as a percent. 

Write 0.25 as a fraction. 

It is 9:05 am. What will the time be in 
3 and 1/2 hours? 

   967 
x 154 

 Brandon jogs 3.6 miles 
every day.  

 How many miles will he 
jog in 12 weeks? 

            

Find the median. 

25, 5, 37, 3, 28, 88, 3, 75 

 Mrs. Gleason spent a 
total of $237.97 on 
groceries and $302.99 
on clothes last week. 

 She had $3055.23 in 
her account before 
the purchases.  

 How much is left? 

Find the mean. 

95, 40, 76, 4, 3, 8, 54 

    42.7 

X    7.9 
    $237.84 
   x         32 

  

48)5,952 
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Name: Score: 

Math Homework 

_________________________________________________________ Today is: 

Write 3/4 as a percent. 

Write 0.667 as a fraction. 

It is 8:45 pm. What was the time 3 
and 1/2 hours ago? 

   664 
x 251 

 Jaime jogs 2.8 miles 
per day. 

 How many miles will 
she jog in 15 weeks? 

            

Find the median. 

19, 58, 4, 48, 2, 50, 48 

 David had $2,805.94 
in his bank account 
before he deposited 
checks for $435.88 
and $610.99. 

 How much does   
David have in his  
account now? 

Find the mean. 

4, 84, 6, 9, 75, 8, 3 

    44.9 

X    8.4 
    $407.44 
   x         35 

  

37)8,991 
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Name: Score: 

Morning Math Test 

_________________________________________________________ Today is: 

5 
5 
6 

2 
3 

x = 4 
= 4 

3 
= 

  

28)5,964 
  

43)2,881 
  

60)2,940 

Please divide. 

2 
4 

3 
4 

= ÷ 

Find the least common multiple. 

3 
4 

1 
4 

= ÷ 

Which of the following is the value of N for 
the problem shown? 

3 and 12 12 and 8 

N x 36 = 2,340 

62 

55 

65 

58 
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Name: Score: 

Math Homework 

_________________________________________________________ Today is: 

7 
4 
7 

2 
5 

x = 3 
= 3 

4 
= 

  

44)6,116 
  

35)2,695 
  

28)9,128 

Please divide. 

1 
8 

1 
2 

= ÷ 

Find the least common multiple. 

4 
6 

2 
3 

= ÷ 

Which of the following is the value of N for 
the problem shown? 

12 and 5 9 and 12 

N x 52 = 3,328 

66 

64 

54 

62 
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